ALT-POSITION CAGE MOUNTS

PREPARE TO RIDE

ENIDE|FRIES|IT|PL|JP|KR|CH

INCLUDED PARTS / LIEFERUMFANG / PIECES INCLUSES / PARTES INCLUIDAS / PARTI INCLUSE / ZAWARTE CZESCI /

EmAE /T8 5 &/ ekl

A Alt-position Cage Mounts B

(Fiir ein oder zwei Trinkflascchen)

© ©
Mocowania koszyka
(Pasujg do 1lub 2 koszykéw bidonu )
o) \& Atavvayr—vvos
Alt-position Alt-position Cage OF2E

Cage Mounts

(Fits one or two
bottle cages)

Alt-position Cage Mounts
(Pour un ou deux portes-bidons)

Alt-position Cage Mounts
(Valido para uno o dos portabidones)

Supporti a gabbia Alt-Position
(adatti ad uno o due portaborracce)

(17] == 271 25 #[0]| 7| Z2tL)

Alt-position Cage Mounts
(TEA— B MIEXESS)

M5 x 12 mm Bolts

M5 x 12 mm

Bulloni M5 x 12 mm
Sruby M5 x 12 mm
M5 x 12mm RJUk
M5 x 12 mm 2E
M5 x 12 mm $%#k

Befestigungsschrauben
Boulons M5 x 12 mm
Tornillos M5 x 12 mm

Cc

NARES

M5 x 9 mm Bottle Cage Bolts
M5 x 9 mm Flaschenhalter
Befestigungsschrauben
Boulons M5 x 9 mm

Boulons pour porte-bidon
Tornillos para

portabidones M5 x 8 mm
Bulloni borracce M5 x 9 mm
M5 x 9 mm Sruby do koszyka
M5 x 9 mm ML —IRRILE
M5 x 9 mm EE #0|A| EE
M5 x 9 mm KEZRIRHH

HINWEIS : Die Befestigungsésen des
Flaschenhalters durfen fur eine korrekte
Montage des Flaschenhalters auf Alt-Position
Cage Mounts max. 5 mm dick sein.

UWAGA : W celu prawidtowego montazu
koszyka i mocowania Alt-Position Cage
Mounts, grubos¢ koszyka powinna by¢

Note : Pour une installation correcte du
porte-bidon et du Alt-Position Cage Mount,
I'épaisseur du porte-bidon doit étre
inférieure a 5 mm.

2t &l : Alt-Position Cage Mounts 0f
=E7|0I2IE HH3IAH Z2517| flatAt=
#|0| 2| 2| %77} 5mmO]5t0{0f BHL|Ct.

NOTA : Para la instalacion adecuada del
portabidones y los soportes para
posiciones alternativas, el grosor del
portabidones debe ser inferior a 5 mm.

AR RNV —IEALT-RYYaY o—
I XOUVNERDMNIFBICIE T —IBUSER

Thickness < Bmm
[EE < Bmm

M5 x 9mm
Bottle Cage Bolts

NOTE : For proper installation of
water bottle cage and Alt-Position
Cage Mounts, cage thickness should
be less than 5mm.

NOTA : Per una corretto posizionamento
della borraccia e del supporto Alt-Position,
lo spessore della borraccia deve essere
inferiore a 5 mm.

AEBIE KFRHEEEREEFIVR 5 mm
7 BEIEFEEIRERRAlt-Position Cage Mounts
Fo

DOESHESMMKE CHDUENHOE
El

°

mniejsza niz 5 mm.

Tools Required : 3mm / 4mm Allen key, benétigtes Werkzeug: 3mm /4mm Innensechskant, Outils requis : Clés Allen de 3mm / 4mm, Herramienta requerida: 3mm / 4mm llave Allen, Attrezzo
necessario: brugola da 3 / 4mm, Zalecane narzedzia : imbusy 3 mm / 4mm, ERY—IL :3mm/4mm RELYF, AL 37 :3mm /4mm |2 MX|, EHTE:3mm / 4mm HEIRT

INSTALLATION ON REAR HYDRATION DEVICES INSTALLATION AN SATTEL-TRINKFLASCHENSYSTEMEN /

INSTALLATION SUR DISPOSITIFS D'HYDRATATION ARRIERE / INSTALACION EN SISTEMAS DE HIDRATACION TRASEROS / INSTALLAZIONE
SU DISPOSITIVI DI IDRATAZIONE POSTERIORI / MONTAZ NA TYLNYM URZADZENIU DO BIDONU / BEF IS A~ DE{I%5:%E / S 25
AO|A| F0| B2/ BIRTEHRERER

Provide an alternative way to raise or lower your water bottle cages when they are assembled on rear hydration devices for you to comfortably mount or dismount your bike. / Die Alt-Position
Cage Mounts erméglichen es, alternativ die Flaschenhalter weiter oben oder unten zu montieren. / Offre une autre facon de rehausser ou d'abaisser vos portes-bidons lorsqu'ils sont assemblés
sur des dispositifs d'hydratation arriére pour que vous puissiez monter ou démonter confortablement votre vélo. / Una manera alternativa de subir o bajar sus portabidones cuando se
ensamblan en los sistemas de hidratacion traseros para que cémodamente los monte o desmonte en su bici. / Forniscono un modo alternativo per alzare o abbassare i portaborracce quando
sono installati su dispositivi di idratazione posteriori, per permettere di montare o smontare comodamente la bici. / Zapewnia alternatywny sposéb na podniesienie i opuszczenie koszyka bidonu
montowanego z tytu, w celu wygodnego montazu lub demontazu. / ALT-iRYYaY & —IRIVREERU TRV —VBYHIBE TS5 T ZEICED REICRERMNUVERDH T TENTEETT S
A7 oHY0f B H|0|2| AR ES A5t E2|E [ #7 OF2 E0f 25 A0|RIS AH0|Lt oF3kO 2 Aatet 4 Al WS AIZELIC / TRBEFBEASNE RN LB KERMUE -

~S4I\wo 7w T TU—RADEDFFHI
Tri-Backup Elite 22 of
{68 Tri-Backup Elite AR 0

Use Tri-Backup Elite as an example
Als Beispiel: Tri-Backup Elite
Utilisez I'élite Tri-Backup comme exemple

Usar Tri-Backup Elite como ejemplo
"Tri-Backup Elite" utilizzato come esempio
Jako przyktadu uzyto Tri-Backup Elite

OPTION 1 OPCION 1 OPZIONE 1
fEMAAE1 M1

OPCJA 1
EIE1

Raise by 32mm
32 mm hoher

Wyzej o0 32mm

2mmE<EbftFs
Plus haut de 32mm - IR Tri-Backup Elite
Subir 32 mm 4@ 32mm NS4t B Ty T TU—
SAN\vo7yT TU—h
Alzare di 32 mm E# 32mm 3 mm Allen Key 4 mm Allen Key

OPTION 2 OPCION 2 OPZIONE 2
OPCJA2 {E@AZE2 SM2
SEIE 2

Lower by 32mm

32 mm tiefer Nizej o 32mm
Plus bas de 32mm  32mMm{E<ERDfIFS
Bajar 32 mm 5t2k 32mm

Abbassare di 32 mm T 32mm

Tri-Backup Elite
rSA1\wo7vT TU—h

@

3 mm Allen Key

4 mm Allen Key



ALT-POSITION CAGE MOUNTS

INSTALLATION ON SMALLER FRAMES AND TIGHTER SPACES

PREPARE TO RIDE

INSTALLATION BEI KLEINEN RAHMEN ODER PLATZPROBLEMEN / INSTALLATION SUR PETITS CADRES ET DES ESPACES REDUITS /
INSTALACION EN CUADROS PEQUENOS Y EN ESPACIOS REDUCIDOS / INSTALLAZIONE SU TELAI PICCOLI E SPAZI STRETTI /
MONTAZ NA MALYCH RAMACH | W WASKICH PRZESTRZENIACH / R E=ILH AL XD I L =L FBRASEHRVITIL—LAORISEE /

A2 Zaf Yt 2H0] Q= S0 A [ RREDR TERKEILM

Provide mounting location options
for Topeak Ninja Bottle Cages and
allow use of different Ninja bottle
cage series combinations on smaller
frames and tighter spaces.

OPTION 1/ OPCION 1/ OPZIONE 1/ OPCJA 1/ ER%#&1 / &

Ermdglicht das Montieren der Topeak
Ninja Flaschenhalter und erméglicht
verschiedene Kombinationen der
Serie bei kleinen Rahmen oder
Platzproblemen.

Offre des options de montage
pour les portes-bidons Ninja
permettant |'utilisation de
différents portes-bidons de la
série Ninja sur de petits cadres
ou la ou l'espace est réduit.

Dispone de multiples opciones
de montaje para los
portabidones Topeak Ninja y
permite el uso de diferentes
combinaciones de la serie Ninja
en cuadros mas pequefos y
espacios reducidos.

Forniscono la possibilita di
montare opzioni di localizzazione
per la serie "Topeak Ninja" e
consentono |'utilizzo di diverse
combinazioni per la serie "Ninja
Bottle Cage" su telai piu piccoli e
spazi piu stretti.

Zapewnia opcje lokalizacji montazu dla
koszykdw Topeak Ninja i umozliwia
korzystanie z kombinacji réznych
koszykéw Ninja na matych ramach i w
waskich przestrzeniach.

ALT-RY YAy r—IoVNEERLTRN
W —IBUHIEZE TSI TEICRD. RE—IL
YA ZDTU—LPRI=ZANENTLU—LAICZ
Iy RNV —IIU—XIEEZRDF TS
ENTEFT

Topeak Ninja 25 07| 2% 9I3] 848
HZsn KO M2 ZRa o B2
2704 A2 CHE Ninja 25 #0]]
NZIZE Z3510] AHRE 4 UALICE
1R K E 3L AT E Topeak Ninja
TRBIL N - FIRERI\R T B2k
SLATF RO -

Raise by 32mm / 32mm hoher / Plus haut de 32mm / Subir 32mm / Alzare di 32mm / Wyzej o 32mm / 32mmE<EbftF3 /

AR 32mm / £ 32mm

3 mm Allen Key

v

@ 4 mm Allen Key

OPTION 2 / OPCION 2 / OPZIONE 2 / OPCJA 2 / {6F%i%E1 /[ SM 2/ 5818 2

Lower by 32mm / 32mm tiefer / Plus bas de 32mm / Bajar 32mm / Abbassare di 32mm / Nizej o
32mm / 32mm{E<EXO £33 / 5Kk 32mm / T 32mm

WARRANTY

2-year Warranty: All mechanical components against

manufacturer defects only

3 mm Allen Key

@ 4 mm Allen Key

WARNING:

To avoid damage to
your frame, use
only the included ;nﬁn
mounting bolts to ]
install as shown.

WARNUNG:

Um Beschadigungen am Rahmen
zu vermeiden, verwenden Sie
bitte nur die mitgelieferten
Befestigungsschrauben

ATTENTION:

Pour éviter d'endommager votre
cadre, utilisez uniquement les
boulons de montage inclus
comme indiqué

ADVERTENCIA

Para evitar dafios en su cuadro,
utilice sélo los tornillos para el
montaje que se incluyen e
instélelos como se muestra.

ATTENZIONE:

per evitare danni al telaio,
utilizzare solamente i bulloni
forniti da montare come indicato

OSTRZEZENIE:

Aby unikng¢ uszkodzenia ramy,
uzywaj wytgcznie dotgczonych
$rub do montazu.

a4

=1

TU—LNADIR— %58 FDfch.
HNFRIBORIVNZEFERALTTE,

P

oY &2 HAlst| sl AlZ ol
BHEl #|0]2] 2ETF ArES10] 17 1t

20| Ma|StHAIL.

BE:

OBTEIEIRITAVESE » SAEERME

MIRVIRHRE T =S - AP ©

Warranty Claim Requirements

To obtain warranty service, you must have your original sales receipt. ltems returned without a
sales receipt will assume that the warranty begins on the date of manufacture. All warranties will
be void if the product is damaged due to user crash, abuse, system alteration, modification, or
used in any way not intended as described in this manual

* The specifications and design are subject to change without notice.

Please contact your Topeak dealer with any questions.
For USA customer service
call: 1-800-250-3068
www.topeak.com
Copyright © Topeak, Inc.
TAPMOT-M_ML_2019-10



